inear Guideway )

1.23 BRC-SU/U0, BRD-SU/UO

Assembly BR block BR rail
Model No. (mm) (mm) (mm)
w w2 MQx| L1 Oil hole F dxDxh
e e o
——2—__ 12434 |95 |46 M4x5.6 %3 43| 5 [ 15|14 | 60 | 4.5x7.5x5.8
BRC15SU 476 | He. 516
BRD15SU 37.6 |
oot fuw| [
28 (42|11 |5 : M5x6.4 M6x1 5 [156(20| 18 | 60 | 6x9.5%9.0
BRC20SU ST (. 28
BRD20SU 47 o
o s "
—BRrezssu 133 |48 |125 | 7 o35 - M6x8 - Méx1 | 4.8 |156| 23 | 22| 60 | 7x11x9.5
BRD25SU 525 )
BRC30U0 {00 PP %
BRD30UO 99
e E428 (a0 | K16 9 9 M8x11.5 M6x1 7 |156| 28| 26| 80 | 14x125
BRC30SU 75.6 38.6
SERRDACSUTE 40x - A
BRD30SU 65.6
BRD35U0 109 | 50x50 80
—BRD3ssU 148 | 70 | 18 |95 (o571 moe | M&xI12 == Méx1 8 (156 (34| 29|80 | 9x14x125
BRD45U0 60 [ 86 [205 [ 14 [ 1382 | 60x60 | M10x13 | 105 M8x1 |85 [ 16 | 45| 38 [105| 14x20x17.5

S U Linear Guideway

f- i~ =—=T1

Lmax
L L N
— L S
g [N+ B ] e+
4MQ I 2MQ % E
[ [T
| «H—Iﬂbd

o]

Ref.Data Basic Load Rating Static Moment Weight
Model No. {mim) (Kgf) {Kafim)
Lmax (¢} (c) (Co) My Block(Kg) Rail(Kg/m)
— BRGISUD. | 850 1350 10.1 68 6.8 017
~ BROISUO 1 550 20 14
BRC15SU :
BRetosy 520 680 5.1 18 18 01
—:232332 1400 2400 24 14.6 14.6 0.26
BRC20SU ik 26
C20SU | 49 49 .

S 950 1400 7 017
% 1950 | 3200 36.8 28 28 038
—BROZW—| w0 | 2 36
- BRCESL 1250 | 1750 17.5 69 6.9 021
il 2850 | 4800 672 432 432 081

BRD30UO ” -

BRC30SU iy :
B 1750 | 2400 336 16 1.6 048

BRD35U0 350 | 6200 105.4 62 62 12

BRD35SU 4000 <0 2500 | 3650 62.1 20.9 209 08 72

BRD45U0 4000 | 225 | 6500 | 10500 | 2363 | 137.8 | 1378 21 123

Note: BR35 and BR45 are not equipped with self-lubricant parts.

YST AUTOMATION CO.,LTD.

[EZE] | vst AuTOmATION CO.,LTD.

75/2 Moo.12 2FL., Bangpeeyai, Bangpee, Samutprakarn 10540 T:02-316-8472-6 F:02-316-8420 E-mail:ystautomation@gmail.com

75/2 Moo.12 2FL., Bangpeeyai, Bangpee, Samutprakarn 10540 T:02-316-8472-6 F:02-316-8420 E-mail:ystautomation@gmail.com

}@



